CalFe;O7 Structure:
ABbHCT7_0C5H2_63_c_a2f c¢3t-001
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Prototype CaFe;07

AFLOW prototype label AB5CT7_0C52_63_c_a2f_c¢3f-001
ICSD 16356

Pearson symbol 0C52

Space group number 63

Space group symbol Cmem

AFLOW prototype command  aflow --proto=AB5C7_oC52_63_c_a2f_c3f-001
--params=a, b/a, c/a, y2, Y3, Y4, 24, Y5, 25, Y6, 26, Y7, 27, Y8, 78

Base-centered Orthorhombic primitive vectors

a; = %afc—%by
1o 115

az = jaX+3by

ag — cz

Basis vectors
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Lattice Cartesian Wyckoff Atom

coordinates coordinates position type
B, = 0 = 0 (4a) Fe I
B, = %33 = %ci (4a) Fel
B; = —yoar +y2a2 + 1 a3 = bya § + jc2 (4c) Cal
B, = Yo — Yo ag + % as = —bys y + %ci (4¢) Cal
Bs = —ysa; +yzaz + § ag = bys§ + ez (4c) OI
Bs = ysa; —ysas + 5 ag = —bys§ + 3c2 (4c) 01
B, = —ysa; +ysas + 24 a3 = bysy +cz4 Z (8f) Fe II
Bs = yaas —ysas+ (24 + 1) as = —bysy+c(zat+i) 2 (8f) Fe 11
By = —ysa; +ysas — (Z4 — %) as = by4§f—c(z4— é) Z (8f) Fe II
B = Yga; — Ygag — 24 a3 = —bys ¥ —cz4 2 (8f) Fe II
B = —ys a1 + ys as + 25 as = bysy + cz5 Z (8f) Fe III
B = ysa; —ysas + (25 + 1) as = —bys§+c(zs+ 1) 2 (8f) Fe 111
Bz = —ysa; + ysas — (z5 — %) as = bysy — ¢ (25 — %) Z (8f) Fe 111
By = Ysa] — Y5 a9 — 25 asg = —bys ¥ — cz52 (8f) Fe III
Bis = —Ys a1 + Ys a2 + 26 a3 = bys y + czg Z (8f) OlII
Big = Yoar —ysas + (26 + 1) as = —bysy +c(26+ 1) 2 (8f) oIl
Bz = —year +ysaz — (26 — 3) as = byey —c (26— 3) 2 (8f) oIl
Bis = Y6 a1 — Yg Az — 26 A3 = —byg y — czg (8f) oIl
Big = —yra; + yras + zras = by y +czr z (8f) O III
Boy = yra; —yras+ (27 + 1) a3 = —byry+c(er+1) 2 (8f) O III
Bs; = —yrar +yras — (27 — 3) a3 = byzy —c(zr—3) 2 (8f) O III
B = Yyra; — Yyrag — 27 as = —by; ¥ —czr 2 (8f) O III
Boz = —ygaj + ysas + zgag = bys ¥ + czs Z (8f) o1V
B2y = ysa; —ysas + (28 + 1) as = —bysy +c(es+1) 2 (8f) o1V
Bas = —ysa; +ysas — (28 — 3) as = bysy —c(zs — 3) 2 (8f) ONY
Bog = Ys @i — Yg Ay — 2g a3 = —bys ¥ — czg 2 (8f) o1V
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